5/20/2015 Print Test

PRINTABLE VERSION

Practice Test 4 . a .
S\ww'O+cos g=1
You scored 100 out of 100 tanlg + L= sue?e
Question 1 | + Cot?g = cseg
Your answer 1s CORRECT.
Which of the following is equivalent to
) , |- es’e
1-cot<(0) + 2cos<(0) _ sinlg v 2(.0-529
1 + cot%(0) csc’e
a)  2sin2(0) - s'n’e - cos’g
Sin’e v 2050
- (=
s.‘v\“o)
¢) O _ N
= sinB-ws’e . Sin’0 4 2t0s’g = S - Wt 2¢s
d)  -1+2cos?(0) Sin .
© - - 2 2
- SnP@+ese =1
e) 2

f)  None of the above.

S{hlo(+ﬁ)zsin°(c‘5 F + (ose< Sin ﬁ
Question 2

Your answer 1s CORRECT.

Given sin (x) = Y with 0°<x<90° and sin(y) =73, with 0°<y<90°. Find sin(x + y).

1 Ze} L\,}Ja b3’ 4
V2 o - N
a) “a'.‘,l:: sl ‘ b = ll‘ -q

- 15, Fy
7 cosm-is"! a’: 24 cos Ly) iy b*-
b) 20 az 29 v =07
SinLx+y) = SN R oS Y ¢ LEK Siny
ek A & Y s R ™
) cHE(D ) =

20
G,
20

o
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1 3
Ll
73
¢) 20
Question 3

Your answer 1S CORRECT. -
/9

CosLX) = "'",-'.‘.
Given sec (x)=-7 with 90° <x<180°. Find sin(2x)

a) 8\5/49 RX

b | b*: 48
3 b=4s
- =
0 4 \5/49 Cos (X) =4
Siaeky = 43
Q) 10 T
e 3V,
Question 4

Your answer 1s CORRECT.

5\ (2%) = 2sin (X) s L

sin (20=2 ij—_—!-) [-"?-’)
= - 8Vy3
49

An 1sosceles triangle has sides 7, 7, and 12. Give the sine of a base angle of the triangle.

13 2 lr *
a) & |
([
A
b 1y
¢) .
13 biq?. 3%
d 13 3=
6 'J"_,%—Jb
e) s 3": 13
Question 5 5: m
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Your answer 1s CORRECT.

Given

with 180° <x <270°. Find
b,
ﬂo‘ 2 rs 135

o I
a) 2
1
®
LR
¢) 4
1
—J6
d) 2
L5
e) 4
Question 6

Your answer 1s CORRECT.

Print Test

Give the number of solutions to the following equation on the mterval [0, 2m).

a) 1

b) 2
ORE

d 4

e) 0
Question 7

Your answer 1s CORRECT.

sn Y S )

sin* LX) = s\nlx) =0

Sin (X) ls&n OO -\) =0

sn(\=p0
*-'-o,-“.

Z 4
) 2
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Find all solutions in the interval [0, 2w] of

2 n:c:-s2 (x)+Scos(x)+2=0
(lcosu.) 1 )lesdt 2 ) =0

7 11
a) 1 e 2 cos (XD = -} costa = -2 & [-41]
= -
b) (% 911%’3%} Cos L) .3
2%]3
T
o {2,n} - 2T
@ {Zn )47:/3} qu’
e) 175,740

Question 8 l
Your answer is CORRECT. Sin ({) = T \I 2 ‘:5 0

Evaluate: ‘i'%
valuate: | (3/ - use(H)
sin EE)

o 3y ) o j - cos (3™
| ———— .Sm( =
oo TV . -
- 2
_;_“'I?'l'e_l}_“'lj - V‘+ /2
b) 2
o T =
- -
1 ——
O o I
e) _é_\llll 2+-\ 2
Question 9
Your answer 1s CORRECT.

Find sin(105°) using the sum or difference formulas.
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1 J3 sin (LO +4S) = Sinlbocos4S + cos WO sin S
Vo : L
2.3
1\}(— 1
—J2+=46
4 ! [P E
“ 4
~VZ+13
c) 4 4
1 1
d) Ir—Iﬁ
1
—V2
e) 2
Question 10
Your answer 1s CORRECT.

The following facts are true about triangle ABC, where the measure of angle B is 30°, BC =x, and

AC =%/43 . How many choices are there for the measure of angle A?

c SSA
%®
a) 4 a .8 sinA - Sin 3©
s X x_ A= LD
b) ©3 'S
A % [ N 20
Chee V3 >
@ 2 Sink:= X - §= \\'E
bo+io < 8OV 2 X 2
e) 0 l20t3D <180 v
Question 11 Sin"e=| _wa.e
Your answer 1s CORRECT.
Simplify the following expression:
plity & Exp 2 (1-cos?g)
sin” (©) 1 -
l—cas{ﬂ] (\—cos ®)

= (t-wse)(l+cse) _ |

cos(0) + 1 C-cos @)
a) cos(0) — 1
= l+cos@ - = Co5 O

b) SEE{B]

https:/iwww .casa.uh.edu/C ourseWare2008/R oot/Pages/CW/Users/Student/Grades/PrintTest.htm

5112



5/20/2015 Print Test

¢) tanl[B]

d  sn(8)

@ cos(8)

Question 12

Your answer 1s CORRECT. 0 =% 4c? - 2bc Cos A
An isosceles triangle has an apex angle measuring 30°. The two equal sides have length Q inches.
What is the length of the base (in inches)? SAS
Q@ [\ @
a) O V20 —20cos(30°)
X
f 2 2 o
by V20 — @ cos(30°) X* Q%Q*- 2QQ Cos 30
>
® LB 5 welE?) X"2 2Q*- 2Q?% (os 30
4 O V20 +20 cos(30°) ’“\[2‘-?‘- 2Q*s 30
& O 28 + Qeos(30°)
Question 13 AHE% - blkb)

Your answer 1s CORRECT.

Find the area of a regular hexagon inscribed in a circle of radius 4 cm.

a)  32\2 cm? 30 - yo
L
b) 483 cm?

2N — b L‘N—%—) Ab‘ %_ (D(HSin bo

¢ 12V3cm? =
:1:.-}.13 l w /e \+ A= 8(2): 402
@ 243 cm? '

e)  32cm?

Question 14
Your answer 1s CORRECT.
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Solve
1
_|_ [ =
in x5+ (L)
over the interval | ']/7 , 6/7 ]
T.W
—-_— N = 2
l ™+ N L4 3
4 [‘.’:— 1> T -Tm
i *Ted — 3
?) Tx = A -2 42wk
\ 4
1.
by 14 Tx = GE + 2wk
— 4
w
¢) T X=35 y2Kk = T;.'_"_
I+
1 7
— 4 — - S
d) 4 4 k:o X T-"l'
2
14

Question 15

Your answer 1s CORRECT.

sn(g)yz=| — \',o. l'rr]

ee."ﬂ'
2
1
Tk

A string running from the ground to the top of a fence has an angle of elevation of 45°. The string is
10 feet long. What 1s the distance between the fence and where the string is pegged to the ground?

a) 5 feet
b) = 20 feet Gr
_ \°
¢) V10 feet
45°
@ 5V2 feet A s
ence,
e) 5v3 feet

Question 16
Your answer 1s CORRECT.

In triangle ABC,

The measure of angle 4 1s 2x,
AB=11, and

https:/iwww .casa.uh.edu/C ourseWare2008/R oot/Pages/CW/Users/Student/Grades/PrintTest.htm

Cos(4S) = 2

lo
\ p
2

E,S
lo

Zx = 102
x= S¥z &~

712



sooz01s SN ERET LSinXee ‘:m) Print Test \
- l‘— ——
Slﬂl%:z-tll)t W ﬂ@'=$;‘3@ A
- 4%
= 30/ 2\ A
If you know that sin(x) = 1/11 , what 1s the area of the triangle? / 20 [

w

' A=t becSinix

L - - 4330
b) 11 b 121-0 T AT ___)
Cos (x) = V30 b z u)L I .
=120
0 2 " _ 30(4) - 12 _ 6
b2 236 b = 20- 2 ¥ 22
@ - i -3
n
0 %
Question 17
Your answer 1s CORRECT.
Given triangle ABC with the measure of angle A = 60°, the length of AB =9, and the length of AC =
7. What is the length of side BC? e SAS
— 1 ®
a) O V1072 o
b) i1 A 3 ¢
& x> = Qa*+2? - 2(9H Cos LO
@ J
xX2. g\1t49- |20 ('/2.)
d o V130
X% 81+49- L3 = (T
9
¢) ok X"—. (P =
X=
Question 18 ¥
' 4
Your answer is CORRECT. sint@)= z = Lojan]
Determine all solutions to J 5
s,‘ﬂgﬂ:% 0="1Te 0=""
on the interval [0, 2m). 2%2 % + 2T 2x= El;_‘ +21ke
o2y X= T Tk X =S LTl
a) 3 3 la 12
am
x: B+l k X= ST 12T
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M, — T, — I, r I K=o

b A
b) - o 4w
e
[lﬂ: 511:13“:1?11:}
i B - a
© Ke2 x,: & < 2= 2L
|2 la
L P M
d) 376 73 76
lT|: —= AT
e) 6
Question 19
Your answer 1s CORRECT.

Draw triangle ABC with side BC as the base. The measure of angle A =45°. If a perpendicular is
drawn from B to side AC, the height is 8. What is the length of side AB?

L P
a) 23 o ﬁ . g
(d s Sinds= 8 ce 8z

® 7 ¢ "
g
¢) 4 ﬁ 2- (>
a 4 J6 cI)=le
C= _l_(-.'__ R - lbrz- _

o 16 Y PR gz
Question 20
Your answer 1s CORRECT.

ABC is atriangle with AB=13, BC=3,and AC=14. Find cos(A).
Note: You are asked to find cos(zg not the measure of angle A. Do not use a calculator.

o 'L"-I-c, -2be COSA

\>

?

9 S

a) /91 h C 37 - “l'l'l' 13 "_ 2 U*\l(;') CDSA
\4

@ %01 1= 10+ |yq = 3064 Cos N

14 =35 = =3L% Cos ™
¢) /13

Cos s = 3se . ﬂ
3 q9

d 3 v !
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)
Question 21
Your answer is CORRECT. 8 Ssh
Given triangle ABC with 3 \rb_
AE=3
and
A [
Eo=6
The measure of angle A is 45°. How many choices are there for the measure of angle C?
e Sin %S Sin & sim e = 3312
a) 0 C= Lo : -
o ‘-l: 3 12
= l20
b) 4 c 3[‘_-::-.\: JT' Sin & SnC= ZJ?
@ 2 (.L.gc)‘- [/
=t 3z Sine= T
Y 120 + 45 < I§0 v = = Ju Sme 13
2
b+ 45 < )go VY 37 - s
e) 3 2J,
Question 22
Your answer 1s CORRECT.
Solve

T A R IR
on the interval [ -m, 7 |.

3sin) (cos 2 -1 =0

0, m, =M, —— T, %TE 35in\=D Cos* ) = | =0

a)
S\nR=0 L&;sb&\ﬂ)(us W -1 =0
1 2
b) 4" g " Xx= - Cosx= -1 cos %k =|
X=0 - o
X=T -

[D WL X="T

¢) 2

d) No Soblution

{0, m, -}

Question 23
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Your answer 1s CORRECT.

ABC is a triangle with angle A = 60°, angle B=45°, and BC=7. Find AC.

]
AAs
N6
a7, ge\ ?
sl‘ﬂ l‘O - SI'n 45
7% »
wo
(& L EY
0 49 A 2 . =
23) 2b
21
d
)T 233 = 141
0 s b= 14J% - +Je - e
——
273 L 3

f) ~ None of the above.

Question 24
Your answer 1s CORRECT.

Two cyclists leave the corner of State Street and Main Street simultaneously. State Street and Main

Street are not at right angles; the cyclists' paths have an angle of 45° between them. How far apart
are the cyclists after they each travel 5 miles? Hint: Use the Law of Cosines

a) o 10—=45 s

b) 10

—
—

¢) 0 NB=5
d 2

®

Question 25
Your answer 1s CORRECT.

sy2—4J2

X5z 5% S . 2 (25) Cos 45
Jz

—_——

=
x*. So - 2SJ L

X*:- So - 50

X =J50 - 2543
*=\2sl2-V2)
X= SJa- Ja

Given sin (x) =% with 0° <x<90°, and sin(y) ="/ with 180° <y<270°. Find cos (x - y).

—4 10 — 14

(27)

®
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b)

gafis gy

(27)

160
27

44 10

(27)

None of the above.

[+
]

Print Test

It q +

b= 31-49
b= 32

b= 4tV

Cos (R-Y) = cosx Coty + Sn % Sin y

(P B3 (2)

https:/iwww .casa.uh.edu/C ourseWare2008/R oot/Pages/CW/Users/Student/Grades/PrintTest.htm

-4V
L3

-
2?

= 4

R g

12112



